Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-111 + EXAMINATION - WINTER 2013

Subject Code: 335005 Date: 04-12-2013
Subject Name: Structure - |
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Define following terms: 1) Engineering mechanics 2) Statics 3) Dynamics 4)
mass 5) Kinetics 6) kinemetics 7) Truss 8) moment
(b) Give differences.1) Scalar quantity & vector quantity 2) Composition of forces
& Resolution of forces 3) Fundamental units & derived units.
Q.2 (a) Draw & explain different types of force system with neat sketches.
(b) Find magnitude & direction of the resultant of the coplanar concurrent force
system as shown in figure 1.
OR
(b) Two forces 6 KN & 8 KN are acting at an angle 60° between them. Find
magnitude & direction of the equilibrant forces.
Q.3 (a) 1)Define law of parallelogram
2) State conditions of equilibrium for coplanar non concurrent forces.
3) Write Statement of lami” s theorem.

(0)  Find the beam support reactions as shown in figure 2.

OR
Q.3 (a) 1) Explain polygon law of forces.
2) Define force & its characteristics.
(b) Find the beam support reactions as shown in figure 3.
Q.4 (a) 1) Define moment & types of moments.
2) Explain different types of loads with sketches.
(b) Find centroid of the section as shown in figure 4.
OR
Q.4 (a) 1)Explain different types of beams with sketches.
2) Give difference between ccentre of gravity & centriod.
(b) Find centroid of the section as shown in figure 5.
Q.5 (a) i) State different methods for analysis of truss.
ii) Define: 1. Perfect truss. 2. Imperfect truss 3. Deficient truss 4. Redudant
truss
(b) Find force in all members by analytical method as shown in figure 6.
OR
Q.5 (a) 1) Draw different types of trusses.
2) List the uses & its limitations of trusses.
(b) Find force in all members by graphical method as shown in figure 6.
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